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2,

1

(3)

(1)

(3)

(1)

Johann Gutenberg developed the first-known

Printing press in Germany. Which was the

rst book he published in thatpress ?

(2)

(3)

(4)

The Republic

The Bible

The Odyssey

What do we call the process through which

bacterial and fungal enzymes degrade
detritus into simpler inorganic substances ?

HIS-2023

The Magna Carta

(2) Humification

Catabolism

PART -I/4TT-I
GENERAL AWARENESS /IIHITvIRGI

Fragmentation

(4) Leaching

3. Students and Teachers'
Advancement through Quality Education
(SARTHAQ) is an

(1) Indicative and suggestive NEP
implementation plan for Higher
Education

(2) Indicative and suggestive NEP
implementation plan for School
Education

Holistic 3.

Indicative and suggestive NEP
implementation plan for Technical
Education

(4). Indicative and suggestive NEP
implementation plan for Legal
Education

2

1.

2.

(1)

(3)

(4)

(1)

(3)

(4)

(1)

(3)

34444

(4) faf fTT f It frTRT Ätd

R2
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4

5.

6.

According to the National Education Policy 4.2020, by which year the Gross EnrolmentRatio in highf"Education includingvocational educaiiin is to be increased to50% ?

(1) 2040

(2) 2035

(3

(4) 2030

2050

Which team wontne2023Women T20 World 5.Cup ?

(1)

(2)

Australia O)

England

Z69124

(4) India

(3) South Africa

,

'Milpa, 'Roca, 'Ladang' are different names

of which of the folowing ?

(1) Open-cast mining

(2) Earthquake waves

(3) Rain water,

PGT-HIS-2023

aryesting

(4) Shifting cultivation

3

6.

(1) 2040

2 2035

(3) 2050

(4) 2030

(2) s

(3

(4)

(1)

(4) riafta zfy
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8

7 Bhasha
Samman 2022 ?Who
was

awarded the
Sahitya Akademi 7.

1)

Chungkian,fashawanta Singh

(2)
ShashiNati)

(3)

(3)
Uday

Natiyha

(4)
Krishna

Bhattacharya

Assertion (A):

Both India andthe USA have bicameral

legislature.

Reason (R) :

The upperhouë of thelegislature in both the

countries has an equal number of seats

reserved for different states.

Choose the correct answer from the codes

below :

(1) Both (A) and (R) are correct
22169

(2) Neither ((A) nor (R) is correct

HIS-2023

(A) iscorrecbut (R) is wrong

(4) (A) is wrong but (R) is correct

4

(1)

(3)

.(4)

arfrct (A) :

hUT (R) :

(1) (A) r (R) i H

(2)

(A)

(A) (R) H ÌI

(4) (A) Td fa-d (R) HI

R2
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9

10.

Assertion (A) ;

As part of the major reforms to UnionBudget, the date
of budget was advanced to1 February for the first time from the Budgetfor Financial year 2020.

Reason (R) :

The advncement of Budget date has beendone to enable earlycompletionof theBudgetcycle.

Choose the correct answer from the codesbelow »

(1)

(2

(3

(4)

Both (A) and (R) are correct and (k)explains (A).

(B

Neither (A) nor (R) is correct?
(A) iscorrect but (R) is wrong

correct about 'India State of the Forest tRepor (1SFR) ?

C

(A)is Wrong but (R) is correct

(A) The first State of the Forest Report was
published in 1947.

(3)

(4)

The report is basedion the biennial
assessment of India's forests carried out
by Forest Survey of India (FSI).

(D) The ISFR 2021 report.shows a decrease

of forest cover as compared to.the
previous assessment.

Which Of the following statement(s) is/are 10, sfeu n HiR ' (314TH.5.)

Based on the ISFR 2021 report the tótal
forest cover ofthe country is 21.71% of

the total geographical area of the
-country:

Choose the correct answer using the codes

below,:

(1) Only (C) and (D) are correct

(2).Only (B) and (C) are correct

9

Only (A), (B) and () are correct

Only (B), (C) and(D) are correct.

PGT-HIS-2023

arfrese (A) :

5

hTUT (R) :

(1). (A) (R) i HâŽ (R) Î (A)

(2)

(3)

tt

(1)

(A)H tf-g (R) ITG
I

(3)

A)ICIT fohi (R) HâàI

(D) T.qH.y5. 34R. 2021 yfaèt À fyst

4)

AIEUH.L5,AR. qÉ 2021 Ré

hd (A), (B) it (C) HEt ž f
hqi (B), (C) 3Ìr (D) HE N

R2
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11.

2

Three statennents are given followed by two 11.

conclusions I and II. Assuming the

Statements to be true decide which of the

conciusions is/are definitely true.

3

I

I.

(1)

Statements :

Conclusions :

(2)

M>Q

(1) R

P M

N<M

(3) ,J
(4) P

Q= N

PGT-HIS-2023

Q<P

(3) Only conclusion I is true.
(4) Only conclusion II is true

REASONING ABILITY /T3HHGIT

12. Eight friends J, K, L, M, P, Q, R and S are

sitting around a square table in such a way

that all are facing towards the centre of the

table. L sits in the middle of the side. P is

second to the left of 'M. 'Q is exact right of

'K and is sitting in the middle of the side. 'P

doesn't sit with L. 'M sits exact right of "J.

Two friends are sitting in betweern 'M and

'S. R is second to the left of 'J'. 'S is exact

left of 'L. 'K is third to the left of'L'.

Who sits fourth to the right of 'K ?

PART
- I|/4- I

Both conclusions I and II are true. -*

(2) sk

Neither conclusion I nor IIis true.

6

12.

chT:

1.

2

3

I.

(1)

M>Q

P> M

H Q<P

(2) S

NsM

(1) R

(3) J

H3 fHA JKL, M, P, Q, R. R S V# qta

Q=
N

R2
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13.

14.

statements I and II each containing SOme
information. Decide which of the statements
is/are sufficient to answer the question.
How is Kushal related to Meenakshi ?

Statements :

(1)

(2)

Given belowis a question, followed by two

(3)

(4)

Kushal is only
brother-in-law.

Garvita is Kushal's only sister.

Both statements I and II together arenecessary to answer the question.

Both the statements I andLtogether are
not sufficient to answer the question.

The statementI alone is sufficient to
answer the question while the
statement II alone is not sufficient.

The statement II alone is sufficient to
answer the question while the
statement I alone is not sufficient.

(3) R

son of Meenakshi's

Refer to the following letter sequence and
answer the question :

(Left) SBT MRESICZYOWAPDFH
GUL (Right)

(4) X

Which letter is fifth to the right of the twelfth

letter from your right end of the given
sequenc ?

(1) P*
(2) W

D

PGT-HIS-2023 a

I.

7

I.

(1)

(2)

(4)

-
(aI) SBTMRESICZYOW ABDFHG
JL (G)

(2 W

(3) R

(=0

(4) X

R2
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:

16.

15.

Who is to the immediate right of Y among

five friends J, K, L, M and N, facing the

North ?

Given below is a question, followed by two. 15.

statements I and II. each containing some

information. Decide which of the statements

is/are sufficient to answer the question.

I

II

(1)

(3

(4)

L is third to the-left-of K and T' is

second to the right of "L'.

'K is to the immediate left of 'N who is

second to the right of J.

(2) Either statement I alone or statement II

alone is sufficient tonswer tthe

question.

Both statements Iand II together are
necessary to answer the question.

The statement I alone is sufficient to

answer the question while the
statement II alone is not sufficient.

The statement II alone is sufficient to
answer the question while the
statement Ialone is not sufficient. ii

M+Qmeans ´M is the wife of 'Q;

.MrQ means, M is the father of 'Q;

Mxmeans M is the daughterof'Q:

'M+Q means M is the sondf

IfA+BxJ+U-D, how is

(1) Sister

(2) Aunt

(3) Mother

(4) Brother

PGT-HIS-2023 a

to 'D'?

8

IIfey žI fTÀ

?

yafrai, K, L, M

(1)

(3)

(4)

(2)

(3)

L,K ar

16.. M+Q I 3Tei f 'M, 'Q Yi

K, 'N

R2
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18.

17. Two statements 1abelled2s Assertion (A)and 17.Reason (R) are given Consider both thestatements
carefully.

Reason (R):

(1)

(2)

Select correct answer with the help of code.

(3)

1

(4)

Assertion (A) : Fake news spread in world

2.

3.

Statements :

III.

Three statements are given, followed by three
conclusionsnumnbered I, II and III. Assuming
the statements to be true, even if they seem
to be at variance with commonly known
facts, decide which of the conclusions
logically follow(s) from the statements.

(1

(2)

(3

(4)

has become a serious
problem.

(A) is false but (R) is true.

The internet is source of all
fake news.

(A) is true but (R) is false.
Both (A) and (R) are true and (R) is thecorrect explanation of (A).

Conclusions :

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

Allpinks are scarlets.

Some scarlets are blues.

No blue is brown.

Some browns are blues.

No pink is brown.

Some scarlets are pinks.

Only conclusion I follows.

Only conclusion III follows.

Only conclusions I and II follow.

PGT-HIS-2023

Only conclusions II and III follow.,

9

T (R) :

(1)

(3)

(4)

1.

2.

3.

(1

(A) TTA fh(R) HI

(3)

(A) r (R) i Ha Ân (R), (A) T

f:

(A) 3r (R) i H fehg (R), (A)

(4) TfA5 ILBiIR. II fTheià

https://www.adda247.com/
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19,

(4)

Which of :the following Venn diagram

represernts the best relationship between

Teachers, Sisters, Females ?

(2)

(3)

(1)

answer the question: The numbers in
different sections indicate the number of
persons.

Salaried

(3) 5

(4) 8

(1) 12

20. Study the given diagram carefully and 20. àfa T 34A-HT 14d ATA z

(2) 13

8

How many Under 35 years' people are
'Salaried' but not'Married ?

PGT-HIS-2023

17

12

Under 35 Years

Married

19.

10

(1)

(3)

(4)

(1) 12

(2) 13

(3) 5

44 8

9715

24

17

221693

12

22

R2
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22.

21.

II

conclusions numberedL II, III and V.Assuming
statement to be true, decidewhich of the conclusions is/are definitelytrue.

statement is given followed by four 21.

Statement:C = R>D<E=K>P
Conclusions :

II: P<E

(3)

IV. E> R

(4)

(2)

(1) Only cnclusions II and IV are true.
(2) Only conclusion IV is true.

(3)

C>D

(4)

K<D

There is a family of six members D, K, L, M,
N and P. They are Lecturer, Artist,
Businessman, Executive, NGO worker and
Singer but not necessarily in the same order.
There are two married couples. 'N, a
Lecturer, is married to the Artist who is the
mother of 'L' and P. P is pursuing singing.
D' has one son and One grandson who is an

Executive. 'K, the Businessman, is married

to D'. Of the two married ladies, one is a

NGO Workei.

Only.conclusions I and II are true.

Which of the following statements is trùe,?

Only cônclusions Iand III are true.

(1) M is the Artist.

L is son of D' andK.

'K is the wife of 'D'.

Mis the Executive.

PGT-HIS-2023 H

22.

11

F:.C= R>D<E = K> P

IIKsD
II P<E

C>D

IVA E> R

(3) i frsi I st II HAŽ

(2)

DE HELD, K, L, M, N 3ÌN P aII VE TÍfrAK

(3)

1

(4)

'L, 'D'aT K hI YaTI

"R2
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24.

23. Lakshmni starts from point 'A' and travels 23.

2 km Southwards to a point'Z' and then turns
right and travels twice that distance to reach

Y. She then turns left and travels five times
the distarnce she covered between point 'A'
and 'Z' and-reaches point "X'. From there
she tuns left and travels 4 km to reach
destination 'B. What is tthe shortest distance
between the points 'A' and 'B and what is

B's direction with respect to "A ?

(1)

(2)

(3)

(4)

(2) P

8 km, North

Seven children K, L, P, R, T, X and Y are

sitting on a straight bench facing towards
North. X is sitting immediately left of Y.
T is the immediate neighbour of 'R' and P'.
Neither 'X nor Y'.are the immediate
neighbours of 'L'. P is sitting second to the
left of L.

(3) R

8 km, South

Who is sitting at the second position from the
right end?.- i

(4), T

12 km, North

(1) Kt

PGT-HIS-2023

12 km, South

12

24.

3ir 2 fh.t. Tht

4 fen.4it. qra B'

'B fhH fI
?

(1)

(2)

.(3)

8 fès.ft., afyu

12 fea.it., 3R

8fe,ft., 3t

Hd GI# K, L, P, R, T, X 3HIR Y VGh

A) K

(2) P

(3) R

(4) T

12 fen.-f., zfU

PTRKL2
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25.

Assumng the statements to be true, even ifthey seem to be at variance with commonly
known facts, decide which of the conclusionslogically follow(s) from the statements ?

Statements :

1.

2.

3.

I.

Three statements are given, followed by four 25.
conclusions numbered I, II, III and IV.

II.

III.

Conclusions :

Allboats are fishes.

IV.

Some fishes are rivers.

Some rivers are sailors.

Some sailors are fishes.

Some boats are sailors.

Some rivers are boats.

Some fishes are boats.

(1) Only conclusion IV follows.

(2) Only conclusions I, II and IV 'follow.

(3) Only conclusions I and IIföllow.

4) Oniy gonclusions II and ll follow.

26. Tf North becomes South-West, then what will

West become ?

(1) North-West

(2) South-East

(3) East

(4) North-East

GT-HIS-2023a: 13

I, II, III 3r IV fA
T HYi HEI

cha :

1.

2.

3.

ft :

II.

II.

(2

(3

(1) 3t-qfrH

(3)

22169715

(4) 3R-ye

R2
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28.

27.

Assertion (A) : India has the potential to

Reason. (R) :

(3)

Twostatements labelled as Assertion (A) and
Reason (R) are given. Consider both the
statements carefully.

(4)

(1)

(2)

(3)

Select.correct answer with the help of code.

(4)

make its Handicrafts
industry a very flourishing

sector.

India is a home to a very
large number of craft forms

including textiles.

(A) is false but (R) is true.

(A) is true but (R) is false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

A patienthas been given a medicineschedule.

There are eight medicine capsules. S, T, U, V,

W, X, Y and Z. Which have to be taken each

day based on the following conditions :

X,

Capsule 'S must be taken sometimes
before "T and W,

(ii) Fourth capsule must be 'U',

T must be taken immediately before

V,

(iv) Y must be taken immediately before

(v 'Z must be taken immediately after´W',

(vi) Y is the first capsule to be taken.

Which of the following statements is false ?

(1)Thè sixth capsule must be V.
(2) "T' is taken immediately after S.

PGT-HIS-2023 D

'X is taken before S.

'U must be taken between 'S and T.

C

28

aã (R) 54

fircz (A) :

ra (R) :

(1) (A) TeTd T g (R) H
(2)

)

IA (A) sr (R) <H HT tng (R), (A) á

(v)

(2)

(3)

(iv), Y 'X rcalci Yac fr

(4)

(R) Ht R (R), (A)

g- S, T, U, V, W, X, Y in Z

f G;

TWS c

(A)

Ty w
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29.

30.

Sudha i the wife of Anand. Kavita is the 29.mother of Gaurav. Anu the daughter of
Ravi, who is the brother of Aryan. Anu's

mother Kavita isth daughter-in-law ofAnand. How is Südtarelated to Aryan ?

(1) Paternal grandmother

(2) Maternal granmother

(3)

(4)

Sister

Mother

(1)

Select the letter clustei. that will replace the
question mark (?) in the following series

BVU, ZXQ, XZM, VBI, TDE,

FAR

(2) FRA

71221697

(3) RAF

(4) RFA

PGT-HIS-2023 D

22169715

24

22
2-1.

15

(1) I

(2)

(3)

22

BVU, ŽXO XZM, VBi, TDE, K2

(1)

(2)

HIT

(3)

FAR

FRA

RAF

RFA

(4fD

20

R2
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31. McAfee Plus is an example of:

33.

(1) Open source software

(2) Programming Language

(3) Anti-virus

(4) Application software

32 Which òf the following software you

preferred most to desin án animated.
multimedia presentationi on the topic Benefits

of Renewable Energies' ?

(1) Microsoft Excel

(2)

(3)

(4). Microsoft Word

(1)

Microsoft PowerPoint

Microsoft Edge

(2)

PART I|/TT- II
KNOWVLEDGE OF JCT/ICTql IT

àst
H (MCAfee Plus) fhHhT VE

Which of the following cloud storage service 33.

owned by Microsoft ?

Floppy Drive

GooleDrive

(3) iCloud

(4) One.Drive

PGT-HIS-2023

31.

16

32.

?

(1)

(4)

(1)

(2)

(3)

software

tfiida (ProgrammingILanguage)

software)

HIEGàÍL RT (Microsoft Excel)

H1GHZ Tae ( Microsoft

PowerPoint)

HrHrte t (Microsoft Edge)

(Open source

4 HIEàTE GŠ (Microsoft Word)

fffyd ?

FloppyDriye

(2) Google, Driye

(3) iCloud

One Di[ve

R2
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34.

35.

(3)

combination of shortcut keys to Copy Someselected text in most of the MS windowsapplications is :

(1)

(2)

(4)

(1)

(2)

Out offfthefollowing
options,the mostpopular 34.

(3)

(3

(2)

The power backup device, UPS, stands for

(4)

Ctrl + P

(4)

Ctrl + X

Ctrl + C

Ctrl + O

Under-control Power System
(4) Under-controlled Power Supply

Uninterruptible Power Supply

36. Which of the folloWing is not a source of the
virus entering yoursstem?
(1) Pen drive

Uninterruptible Power System

2169715

22161

Printouts

Email attachment

Hard Disk

37. Which of the following does not come under

cyber-crime under IT Act 2000 ?

(1) Misusing persnal information over

internet

(2) Using fakemail messages to get

personal infofrñation

(8) Stealing monitor from a store

PGT-HIS-2023 aA

Distributinglhild pornography over

internet

35.

36

HfUsNI A Hfds (MS windows) iteh1

17

(1)

(2) Ctrl + X

f3 Ctrl + C

Ctrl + P

(4) Ctrl +O

(1) Uninterruptible Power Supply

(2)

(3)

Uninterruptible Power System

Under-control Power System

H Under-controlled Power Supply

(3)

(1) 7SIT (Pen drive)

e fieISH (Printouts)

i eqHe (Email attachment)

(4) as fsth (Hard Disk)

37. fffg HI311 VE-2000 3fd

-4T (fake email) I Y HI

(4)
e q

(pornography) faafta B41

R2
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39.

40.

38. Which of the following groups of devices are | 38.
only input deyice?

(1) Keyboatd, Printer, Light Pen

(2) Joystick,-Microphone, Scanner

(3)

(2)

(2)

(4) Mouse, Microphone, Speaker

Mouse, Moitor, Joystick

Which type-of network we create. when we
connect two smartphones to transfer some
photos through Bluetooth ?

(1) PAN

LAN

(3) MAN

(4) WAN

Which of the following is an example of an 40.
Operating Syšter ?

(1) Word

Windows

169715

(3) Bing T

(4) Edge

PGT-HIS-2023 p

39.

18

(1
-ats, (Keyboard.

(3)

Printer, Light Pern)

Microphone, Scanner)

Joystick)

(4)

(4) 413H, #}ia, tit (Mouse,
Microphone, Speaker)

(2). (LAN)

siufteeh(Mouse, Monitor,

(3) y7 (MAN)

(Operating System) 1 H J<IEIÈ?
(1) Š(Word)

(2) fsa (Windows)

(3) fa (Bing)

(ay (Edge)

R2
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41.

42.

43.

of :

(1)

(2)

(1)

(3)

(2)

(3)

(4)

(4) teacher's scholarship.

(4)

Effective teaching, by and large, is a function

(1)

(3)

(1)

(2)

Which of the following is not an example of 42.
'Assessnment of Learning' ?

(3)

TEACHINGAPTITUDE IfTTUT 3ftgfi

teacher's positive attitude towardsteaching.

teachers ability to make students learn.
teacher's honesty.

Scholarship Examination
Anecdotal Records

PART- IV/IT - IV

Annual Examination

(2) find out causes for lack of interest and

Assessment of Homework

file a complaint with the principal and

parents and seek their indulgence.

take corrective measures.

with a unit test ?

If students are not taking interest in their 43. yf faeTef 3g yagÀiNa atf4
studies, the teacher should :

4. Which one of the following is not associated

ask them as to why are they not taking

interest in their studies.

tell them that taking interest in their

studies would lead to good result.

Totally controlled by the teacher

Used for Remedial purpose

Standardized Achievement Tests

competencies

41.

(4) Confined to limited number of

(3)

19

(4)

(1)

(2)

(3)

(3)

(1)

(2)

IHqt vâgi

(4)

t afurta
anf# yaT

R
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45.

46.

47.

Which one of the following is not a 45.
characteristic of teacher centred approach?
(1)

(2)

(3)

(4)

(1)

(2)

Mohan can now think in terms of
propositions and deal with propositions
instead of objects. He deals with sum total of
possibilities rather than empirical situation.
He takes final steps towards versatility in
thought.

(3)

(3)

Mohan is at which stage of Piaget's model ?

(1)

Enough scope for discussion and debate
is available.

Courses prescribed can be completed in
time.

Large sized classes are handled very
well.

Unfamiliar or abstract concepts are
directly explained by the teacher.

Concrete operations stage
Formal operations stage

(4) Sensory-motor stage

Pre-operational stage

The ASSURE model of integration of ICT in 47.

the learning process has the components :

Analyse the content, state the aim,
select method and materials and
evaluate.

(2) Analyse the learners, state the aim,

select the method and materials and
extend.

PGT-HIS-2023

Analyse learners, state the objectives,

select the media and materials and
eraluate.

4) Activity, state the objectives, support
and extend.

46

20

(2)

(3)

(4

(1) Hd ifshYH# 34dFeT

(3)

3Tuftfa

(4) 4-ÍG T4F 34d|TK

HHth ASSURE yÍHH 34yg:

(2)

R2
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50.

48.

49.

(1)

(2)

(3)

(3)

(4)

Which characteristic does not belong to 48. fahyii ÀN Á faroil t 12 eAdolescence stage ?

(1)

(2)

(2)

(3)

(4)

(1)

A period of intense emotions

Highly critical of social evils andinjustice

Pronounced group loyalty

What should not be a role of a teacher in theconstruction of knowledge by students ?

Forming groups among members of
same sex

Focussing on realistic approaches to
solve real world problenms

(4) Supporting

Discouraging self analysis and self
assesSment

Being sensitive to the previous
experience of each and every student
in the class

What is not an advantage of Discovery
method?

Cooperative
collaborative learning in the classroom

and

It provides training to prepare students

for life.

It develops self confidence and self

reliance.

This method is suitable for the students

of lower classes.

It develops scientific and critical

attitude among students.

D

GT-HIS-2023 D
21

49.

50.

(1)

(3)

(4)

(1)

(2)

(4) 34 RI faurft aft5 3t

R2
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Sttt, vut2V
HaUact

51.

52.

A ballis thrown horizonlally from the top of 51.
a 20 m high building. The ball slrikes lhe

ground al an angle of 45°. Taking the
acceleration due to gravily as 10 m/s; tlhe

speed at which the ball was thrown is :

(1)

(2)

(4)

7.5 m/s

B:

10 m/s

V=utat

0 m/s

5 m/s

X3)

Which of the following situations is/are not

possible ?

(4)

A: An object having velocity towards

north and acceleration towards south.

X(1) B only

e Conly

An object having uniorm velocity and

variable acceleralion.

PART - V/YT- V

PHYSICS /RIa

2

An object having zero velocity and non

zero acceleration.

A and B

B and C

PGT-PHY-2023 G
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52.

22

-(1)

(2) 10 m/s

(3)

B:

7.5 m/s

(4)

v=u1 2a.

0m/s

(3)

5 m/s

(1) aH B

(4)

(2) ha C

V=utat

A 3R B

B 3ÌR C

V

4

A2
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53. A lift is moving upward with uniorm 53.
acceleration. The graph shown below shows

the position 'y of the ceiling of the lift with

time t.

At instant t,, a bolt breaks loose and drops

from the ceiling. Which one of the following

Curve best represents the position of the bolt

with time ?

(1)

(2)

(3)

(4)

t1

t

t

t

PGT-PHY-2023 aB
JOIN TELEGRAM -@TEACHINGEXAM
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(1)

(2)

(3)

(4)

y1

t

t

t

R2
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54. For (wo Veclors A and

Sb)

55.

a) AIB

X (C)

(2)

+ B=A- B is always true when:

(3)

When either A or B

parallel or antiparallel

(b) or (c)

(2)

(b) only

tf (a) or (b)

A + B is :

K30

7

In the diagram shown below, A has

magnitude 4 and B has magnitude 3 along

the direction PQ. The X-component of

1

(3) 0

(4) 5

P

is zero

PGT-PHY-2023 a

and A and B are either

(A+)'-(A-0)

B

Al

t 3

2

JÓIN TELEGRÀM+ @TEACHINGEXAM

54.

24

(a)

(b)

(c)

(1)

(2)

(3)

(4)

ALB

(b) 314l (c)

(2)

hdi (a)

(a) 4l (b)

A + B hl x-4eŽ:

(1) 7

30°

1

(3) 0

(4) 5

P

A60°

R2
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56.

57.

(ir ulau roe way ntrance and ut tamps 56.

on abasnent car-parking, area ate nomally i

banked lo handle four-whecers moVny at !

speedsclose to 20 km/h. To designa simil.u

ramp for 40 km/h speed, which one of the !

following should be considered ?

(2)

(3)

(4)

The ralius of frev way need to be made

lour limes.

The radius of free way need o be made

J2 times.

(2)

The radius of free way necd to b made

two times.

An object is subjected to a conslant fore; 57.

The radius of free way nced to be made

half.

given by (10i +7j - 7k)N ; (symbols carry

their usual meanings.) It moves by a distance

3 m along +y direction. The work done on

the object by this force is :

4)

(1) 14 N.m

- 21 N.m

(3) 30 N.m

21 N.m

PGT-PHY-2023
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U)

(2

(3)

(4)

(1)

(2)

14 N.m

(4)

-21 N.m

(3) 30 N.m

21 N.m

R2
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58.

59.

Consider the system of four blocks A, B, C| 58.
and D connected by light, inextensible stringsas shown in figure below. The surace issmooth and the pulley is light and smooth.
When the system is released, the tension T,
in string connecting blocks B and C is :

(g=10 m/s?)

6.0 kg2.0 kg 24.0 kg3

(1) 48

(2) 56 N

(3)

(4)

30 N

B

40 N

tug
(6.0 kgD

An object moving at uniform velocity in an

inertial frame must :

not have any force of gravity acting on

it

(2) eventually stop due to gravity.

(3) have no frictional force acting on it.

PGT-PHY-2023 a

4 have zero net force acting on it.

JOIN TELEGRAM - @TEACHINGEXAM

59.

26

ÀT¢ R yeei A, B, cR D R frar áfài

(g=10 m/s²)

(1)

(2

(3)

(4)

A

48 N

(1)

56 N

30 N

40 N

fys :

B

6.0 kgD

ba= 6o-T

(2) T hRUj 34-: fRIH 34HI AIÍI

R2
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60. The uniform motion of an object along a I 60, fz61 fie á fGÁ| T4
circular path is a direct consequence of

(a)

61.

(c)

2)

(3)

COnservalion

(4)

momentum.

Lh) (b) and (c)

the same point.

an acceleration always directed loward

Newlon's third law.

(a) and (c)

(a) only

(b) only

Wj = (2 + 3F;).ds and

of

An object is simultaneously subjected to

several conservative forces. The work done

by them on the object over a closed path

given in two cases as :

Here F, - (7i+5 - 5N

between W, and W, ?

(1) W,> W, W

energy

(2) W,=W,#0

F = (i + 12k)N. What is the relationship

(symbols have their usual meanings)

(3) W,< W;

W= W,=0

PGT-PHY-2023 a

and

and

are
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(a)

(b)

(c)

(1)

(2)

(3)

(4)

(b) BÄR (c)

(a) i (c)

hd1 (a)

pai (b)

W, = (F - ).d3

(3)

F =(i +12k)NIW, aei W, a I
HLqy ?

(1) W;>W;

(2) W,=W,+0
W < W;

(4) W,=W,=0

R2
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62.

63.

The ultimate tensile strength of a britle i 62. fa R T49 1 RH T4A HIUÀ T ufdqa à

sample is the stress at which the sample :

-4)

(2)

(4)

(b)

n)

An object is thrown vertically upwards to a

height of 10 m. After reaching the highest

point, it returns to the same point from where
it was projected. Assuming negligible air
resistance, which of the following quantities
may remain conslant throughoul the

motiorn ?

(d)

(a) Both kinctic and potential energies

(2)

breaks.

(3)

gets permanent deformation.

(4)

bends 180°.

returns to its original shape when he
stress is removed.

Momentum

Acceleration

The sum of kinetic and potential

energies

(c) and (d)

(a) and (c)

(a)and (b)

(b) and (c)

JOIN TELEGRA - @TEACHINGEXAM
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63.

(2)

(3)

(4)

(b)

(c)

341 GIIGIžI

(1) (c) 3ir (d)

(2) (a) 3T (C)

(3) (a) 3R (b)

(4) (b) 3ÄR (c)

R2
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64. A rubber ball is taken in deep sea where its 64.

volume is changed by, 0.2". The bulk

modulus of rubber is l0 N/m² and the

density of sea water may be assumed as

10 kg/m². The depth of sea is
:

(g=10 m/s?)

sV0. 2

65.

(1)

(2)

(3)

(4)

1 km

1.6 km

100 m

(3)

200 m

A bucket resting on the floor of a lift contains

an incompressible fluid of density p. Now

the lift starts moving downwards wilh a

uniform acceleration p. The pressure |

difference between two points in the fluid,

separated by a vertical distance A, is :

(4)

(Symbols here carry their usual meanings)

(1) p(gta)Ax

2) p(g - a)Ax

Bu h=Se

Ppår

PgAx

PGT-PHY-2023
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65.

29

(g=J0 m/s²)

(1)

(2)

(3)

1 km

(2)

1.6 km

(4) 200 m

100 m

(1) p(g +a)ax

(4)

p(g- a)r

(3) ppAx

PgAx

R2
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66. A wden blok with a small pive of ion 66.

placed on its top, (bats in a liqiuid of density
P. Soe igure below. After sone time the iron !

pive falls into the liquid. Then:

67.

(a)

w(b)

Vc)

(1)

(2)

(d) hdecreases

(3)

Idecreases
l increases

(1)

h incrcases

(2)

(b) and (c)

(b) and (d)

(4) (a) and ()

(a) and (c)

The lower end of a capillary tube of diameler 67.

1.0 mm is dipped 10 cm below the surlace of

water in a beaker. What is lhe pressure
required in the capillary tube in order to blow
a hemispherical bubble of twice the diameler
of the lube at the end of the tube in
water ? (The surface tension of waler is

7.30 x 10-2N/m; 1 atm pressure =1.01x 105

Pa, densily of water = 103 kg/m'; and
g=10 m/s)

1.02 × 105 Pa

1.01 x 105 Pa

(3) 1.562 × J0 Pa

(4) 1.022 × 105 Pa

Jr

PGT-PHY-2023 a

loX\6

30
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(a)

(b)

(c)

(d)

(1)

(2)

(3)

(4)

(1)

(2)

(b) BN (c)

ATA 7.30 x 10-2 N/m à; 1 arqHvgg
Iq=1.01l x 10° Pa; YÌ H=103 kg/m':

(3)

(b) 3R (d)

l g= 10 m/s²)

(4)

(a) siR (c)

(a) 3T (d)

1.02 x 105 Pa

1.01 x 10² Pa

1.562 × 105 Pa

1.022 × 105 Pa

7ox R2
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68. The expansion of an ideal gas shown by 68.
the graph below

(1)

(2)

(3)

V=

Which one of the following diagrams
represents a correct P -T diagram ?

yo (4)

PA

PA

PA

P

COnstant

PGT-PHY-2023
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1

(P Ca}

2

T

2

T

T

(Teonts
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(1)

(2)

(3)

(4)

V

PA

P4

P4

P

COnstant

?1

T

2
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69.

70.

Which one of the following statements 69.

presents an evidence that molecules of a gas
are in motion conslantly ?

(1)

42)

(4)

(3) Heat is needed to vaporise a liquid.

3)
(1)

(3)

Gases are easily compressed.

(2)

Winds exert pressure.

Two gasses interdiffuse quickly.

A technocrat claims to have developed a 70.
reversilble heal engine that has an efficiency
of 40% when it operates between a high
temperature reservoir of 150 °Cand a low
temperature reservoir of30 °C Which one

of the following statements is true for this ?

3 240

s3

The engine is not possible as it violates
the second law of thermodynamics.

The engine obeys all the laws of
thermodynamics.

The engine is not possible as it violates
the first law of thermodynamics.

DD

(4) The engine is possible as it obeys the first

and secornd laws of thermodynamics.

PGT-PHY-2023 G 32
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(1)

(2)

ct gehiti fe 150 C 3 I4 qT 30 °C

HY ?

(1)

(2)

(3)

(4)
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69.

70.

Which 0ne of the following slalements|69.

presenls an evidence that molecules of a gas

are in nmotion conslantly ?

(1)

42)

(3)

(4)

3)

(2)

Gases are casily compressed.

(3)

Winds exerl prcssure.

(4)

Heat is needed to vaporise a liquid.

A technoCral claims lo have developed a

reversible heal engine that has an efficiency

of 40% when it operates between a high
lemperature reservoir of 150 °Cand a low

temperature reservoir of 30 °CJ Which one

of the following sialements is true for this ?

Two gasses interdiffuse quickly.

3

(1) The engine is not possible as it violates

249

the second law of thermodynamics.

The engine obeys all the laws of

thermodynamics.

The engine is not possible as it violates
the first law of thermodynamics.

The engine is possible as it obeys the first
and second laws of hermodynamics.

PGT-PHY-2023 3

70.
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(1)

(2)

(3)

(4)

y gAâi feli 150 °C 3od I4 1i 30 °C

(2)
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71. Four identical point objects A, B, C and D 71.

72.

each of mass 10 g are arranged in ihe x, y }

plane as shown in the figure. These are !

connecled by light sticks to form a rigid body.

The moment of inertia of this arrangemnent

about the y-axis is :

(1)

(3)

)

(4)

P)

(cm)||

(4

20

10+

-10

-20

5.0 x 10-i kg.m?

9.25 x10-4 kg,m²

1.75 x 10-4 kg.m²

2T m

(2)2ra,

B

2.0x 10-4 kg.m?

A

I m

10

An object of mass m is performing small 72.

amplitude oscillation in a potential field given

by U()= u(l - cosax). What its time
period ? (U, and a are constant quantities) |

PGT-PHY-2023

m

m

15 20

D

T

(cm)

Uim utsin)

T
33
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(1)

(2,

(3)

(4)

hl

(1)

(cm)
20

- 10+

10

-20

(3)

(4)

5.0 x 10- kg.m²

9.25 × 10-4 kg.m?

1.75x 10-4 kg.m?

10

2.0x 10-4 kg.m²

:

(a U, zin a fruais t)

(2) 2ra, Im

1 m

15 20

C

D
(cm)

F-du

925

\uo ma(tasina=

R2
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73.

74.

The angular velocily veelor of a spining73.
spherical objet points out of the pge. I he

!

angular acccleralion verlor points into lhe

Page, then

(1) the objotis luning in opposite direction.

(2)

(3)

4)

lhe axis of rolalion of the object is

changing

he objet is speeding up.

the object is speeding down.

(4)

The speed of a sound wave is fundanmentally
! 74. feÌ af HÌ Hid: fchH ARI feffa

delermined by

(1) its amplitude only

2) he transmitting medium only

(3) its frequency only

its intensity only

75. A gas mixture consists of 2 moles of oxygen ! 75.

and 4 moles of neon at 27°C. If all vibrational
modes can be neglected then the lotal
internal energy of lhe system is:

(Oxygen has two rotational modes; synmbols

here carry their usual meanings)

(1) 297 R

(2) 3300 R

(3) 11 R

(4) 55 R

PGT-PHY-2023

0.

Vet R 7
2

f= gN-h

rh 334

(2)
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airii ?

(3) SHi 31gft gRI

(4)

(1) 297 R

(2) 3300 R

(3) 11 R

(4) 55 R

R2
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76. A particle is in linear simple harnonic motion 76.

77.

between iwo points A and B, as shown.

3

Which of the follkowing stalements is/are
true ?

(a)

(b)

(1)

(3)

(4)

10 cm

5cm+

(1)

(3)

The siyn of the dcceleration and force

on the partice are always positive

when it is at point B.

The sign of veocity, acceleration and

force on the particle when it is 4 cm

away (rom point Bgoing towards A are

negative.

Botlh (a) and (b)

Neither (a) nor (b)

Only (a)

Only (b

Ae

A 10 m long open pipe, from both the !

nds.

A 5 m long pipe, open Irom one end

nd cosed at tlhe other.

An 8 m long pije, open Irom both the

ends.

) An 8 m long ppe, open irOm one end

Jnd cosed at the oler.

PGT-PHY-2023 at
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(a)

+5 cm

(b

IWhuh of the tollowing pipes has the highest 77. rà frà TÀ gi àfnÌ Y ATqfM 3a4
Iundamental Irequeny

(2)

(1) i (a) st (b)

(3

(4

?

10 cm

(1)

(2

(3)

hari (a)

A

hqi (b)

R2
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78.

80.

A pendulum clock that keeps voTrect ime at 78.

Mumbai is taken to the moon. It will :

()

(a)

(3) cOnlinue lo keep the correct time

(b)

(c)

(d)

(2)

(3)

relard by a fator of

(2)

relard by a lactor of yo

How many of the following statements are 79. fHHfgd Fei forii Hr ?
true ?

are

advance by a factor of

(1) Only three

Fahrenheit and Kelvin scales agree at a

reading of 574 units
Temperalure differing by 25° on
Fahrenheit scale must differ by 45° on

Lhe Celsius scale
Waler at 90 °C is colder than waler at

202 °F

0 °F corresponds to -32 °C

(4) Only two

Allthe four
Only One

Four identical particles each of mass 'm are

placed at the vertices of a square of
length'L'. The potential energy of the system

and the potential at the centre of the square

respectively
:

Jbn TELI

) S.41G;4/ Gm

-5.41G"; -4/5m

(4) 5.41Gm
L

PGT-PHY-2023 öA
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(1)

80.

(2)

(3)

(4)

(a)

(b)

(c)

(d)

(1)

(2)

(3)

(4)

9.8

(0)

VI.6

(49)

(1) 541G4/2Gm

0 F, -32 °C A AI

L

L

2

-541G;Vm

541G:-4V
L

L

L

L

Gm
L

52-]6o:9M
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81. What is the power radiated by a tungsten- | 81.

alloy lamp filament having 0.3 cm² surlace!

82.

area at 3000 K ? (The emissivity of alloy is

0.5 and the Stefan- Boltzmann constant is !

5.67 x 10-8 W m-2 K-)

(1)

(2)

(3)

about 90 W

about 100 W

about 60 W

(4) about 70 W

(2)

A 10 m cord of negligible mass is wound
round the rim of a flywheel of mass 20 kg

and radius 10 cm. The flywheel is mounted
on a horizontal axle with frictionless bearings.

A steady pull of 50 N is applied on the cord
as shown in figure. The angular acceleration

of the wheeland work done by thepull, when
3 m of the cord is unwound, are respectively

:

2

"(1) 50s-2 150 J

50 N

100 s-2, 500 |

(3) 50 s- 500 ]

PGT-PHY-2023

(4) 100 s-2, 150 |

-X
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82.
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5.67× 10 8 W m 2K-ä) :

(1)

(2)

(3)

(4)

1T41 90 W

41 100 W

(2)

60 W

(3)

14T 70 W

20 kg HA Gn 10 cm fäul aIi ga

50 N # Tt q Ì f

(1) 50 s-2, 150 )

50 N

100 s-2, 500 ]

t

50 s-2, 500 J

(4) 100s-2, 150 J

135
29 2 o

R2
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83.

84.

\Vhih one ol the lollowoy: stalemenls is 83.

NOT corretwilh regard to the National |

Resvarch Foundalion ?

(1)

(2)

(3)

(4)

(!1)

(2)

It will be governed by lho Ministry of

Scienwe and Technology, Government
of lndia

(3)

will funcion recognize
outstanling research and progress

Which one of the following is proposed to be

crealed for providing a platlorm for the free

xchange of ideas on the use of lechnology
to enhance learning, assessment, planning
administration ctc. both in school and higher
educalion ?

It is for calalysin quality academic
research in all fields

Il is (or devcloping a robust cosystem
of research with the rapid changes
occurring in the world

National Institute of Educationa!
Planning and Administration

National Educalional Technology
l'orum

Central Institule of Elucational
Technology

(4) National Institule of Educational
"TechnologY

PGT-PHY-2023 5
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84.

(0)

(2)

(3)

(1)

(2)

(4) ty íHA Ìùfirea iyrA

R2
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85. "A student is able localibratea spectromeler" 85. faefi fehíl I Ì znfya (åfrie)
which one of the following domain could best

describe this stalement ?

) Psychomotor domain

I 2) Application domain

(3)

(4)

Affective domain

Evaluation domain

86. WIhich of he following are usually the aim

of a science course ?

ta) Developing an understanding of

scientific terminology

V6) Developing open-mindedness

.c) Providing relevant foundation for

higher studies

(d) Restricting within the disciplinary

boundaries of laws

) (a), (b) and ()

(2) Allfour

(3) (a) and (b)

(4) (b), (c) and (d)

PGT-PHY-2023 D
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(1)

(2) gum (qièNA)SHA

(3)

(4) riG srA

(c)

(1) (a), (b) sir (c)

(3) () r (6)

(4) (b), (c) 3R (d)

R2
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87.

88.

The development of NEP-2020 includes the 87. g fran ifa 2020 1 facara fr=tfafen i 4

agenda o which of the following ?

a) Lvarning without Burden, 1992

(b)

yl2)
y) 6) and (c)

(3)

Sustainable Development 2030

Agenda's SDG-4

National Curriculum Framework-2005

|(A)

(4) (a) and (b)

(B)

Only (b)

Maleh the Table-(1) with Table-(11) and 88.

choose the orrel option using the code given

(CO

Only (a)

below the tabl.

Table-I

(% of GDP used

on Research and

Code
:

Innovation

investnmenl as per
NEP 2020)

1.20

4.3

2.8,

0.69%

(1) (p) () (r)

J(p)USA

(q) South Korea

(A) (B) (C) (D)

(r) Indlia

Table-1I

(s) Israel

(9)

(Country)

(2) (4) (>) (P) (r)

(3) (r) (4) (s) (p)

() () (P) () (")

JOINELEGRAN - @TEACHINGEXAM
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(a)

(b)

(c)

(1)

(2)

(3)

(4)

(A)

(B)

(D

1992

Had fedhIH USI 2030 #1 SDG-4

ty yogÍ fi sI- 2005

(b) oR (C)

hdi (b)

hi (a)

(a) 3iT (b)

2020 311HR

(A)

(1) (p)

(2) (4)

frà)

4.2%

4.3%

2.8%

0.69%

(B) (C)

(I) Rd

()zía if

(3) (r)

(1) (s) (P) (4)

(D)

(q) (r) (s)

(s) oRIEI

(s) (p) ()

(4) (s) ()

yer-I1

(ŽR)

(r)

R2
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89. The National Education Policy 2020 | 89. 4 h Ur4 3n 1q hÍuT THai è
recommends the Continuous Profvssional !

Development programs lor the school

principals and the schoolcomplex leaders for
: !

90.

(1)

(2)

3

(4)

150hours or more every three years

covering leadership and managoment

skills

(2)

25 hours or nore every six-months
covering leadership and management

skills as well as content and pedago8Y

(3)

50 hours or more every year covering |

leadership and management skills only

Which one of the following could be used for

drawing and storing a stress-strain curve for

a material under test ?

50 hours or more every year covering

leadership and management skills as

well as content and pedagogy

(1) A telescope

A laser

A digital camera

(4) A metallurgical microscope

PGT-PHY-2023 41
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(1)

(2) citsTVÎY 3R (1q) NI

(3) hG cÍsRN 3rr (yq) NIGI

3TTfT 50 3121 3fyc y yfa qú

(2) y5 THR

(3)

R2
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91, Which one of the following, stalements best

cleseribes the liitation of eBooks ?

)

w2)

(3)

(4)

(b)

Tlhese are flexible.

92. Which of the following assumptions are used

in the derivation of Bernoulli's equation ?

11)

These require certain soflware and

hardware to be installed.

a) Steady flow

(2)

These are time-saving versions for

gathering information only.

(3)

These ameliorate the burden of

students' school bag.

c) No losses from the fluid friction

Compressible fluids

(a) and ()

All thrO

(a) and (b)

(1) (b) and ()
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91.

92.

(1)

(2)

(3)

(4)

(a)

(b)

(c)

(1)

(2) -i

(3)

(a) sit (c)

(4)

(a)3 (b)

(b) 3ir (c)
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93.

94.

In case of electroslatic shiclding of a cavity, | 93. fenz freràga À yfríA TfzEI yEI| À.

lollowing lwo statements are given :

S : A any point inside he cavity,oocric
licld is zero,

S,: A allpoints inside the cavity, the

potential is same.

Which of the following is correct ?

1)

(2

Both S, and S, are true and S, is the

cause of S,.

Both S, and S, are correct but S, is not

the cause of S.

(3) S, is true but S, is false.

(4) Both S, and S, are false.

(E)

Now its capacitance changes to C. The ratio

(1) 2 K

Anair-filled parallel plate capacitor of plale 94. gai a5G 2 cm² oir gaGi 4 mm fai
area 2 cm² and plate separation 4 mm has
capacitance C. It is filled with two slabs of

same area but thickness 1 mm and 3 mm of

dielectric constants K and 3 K, respectively.

(2) K

(3) 9 K

(4) 6 K

PGT-PHY-2023

nes).

A.

Ca2 3kD

(1) S, iS, I HA GIS,, S, 51 A|
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(2) S, ai S, iS HAŽ S,,S, 51 G4M

(3 S, HA WgS, 3HAŽI

yeeni fa1 UTyaia 5HI: K S3 KŽÀ1

(Je:

(1) 2 K

(2) K

(3) 9 K

(4) 6K
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95. IVhich one of the lollowing Ggures correctly 95. tA fi hA HI U5 fa fa

shows the variation of electric potential V

(in units o!

(in units of

witlh dislance r ?

()

(2)

(0)

Or

()

Q

PGT-PHY-2023

, V

m)and clectric ficld EI

m ")for a point charge Q
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(1)

(2)

(3)

(4)

Or

(01

, V

E

E

Ja a

4me0
m

R2
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96.

97.

Lel there be a Gaussian surface S that has 96. farzi ISU y3 s fa sin ATAGB àI
some charges inside and some oulside. Which
one of the following statements is true ?

(1)

(2) The electric field outside the surface S

depends on qoutside inside

(Symbols carry their usual meanings)

(3)

(4) The electric field outside the surface S

o is due to charges oulside Uhe surface.

The electric field outside he surface S

is due to all the charges, both outside
and inside S.

The electric field components in the figure | 97.

shown is non-uniform and given by px
along x-axis only. The flux through the cube

of edge 0.1 m is about
:

The electic field outside the surface S

is due lo charges inside the surfaco.

(p=1000 NC-'m-/2)

(1)

2 (m)

(2)

(3)

(4)

A

4.5 N m²C-1

0

E)

0./

3.2 N m² -!

PGT-PHY-2023

1.3 N m?c-!

B

G

/0.2
(m)

R
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(2)

(3)

(p=1000 NC-'m-I/2)

(m)

(1)

(2)

(m)

(4)

D

H

0

E!

pya à f I 0.1 m

0.1/

4.5 N m² C-1

3.2 N m² C-I

1.3 N mC-1

B

F
/0.2

(m)

R2
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98. For a batlery consider the following (wo 98.

staleents
:

S, : Potential dilference (V) across the !

lerminals of a batlery may either be

V= Tr cqual to or less than the emf (E) of the

batter

99.

S,
: During discharge of a battery, potential

difference (V) across two terminals of

the battery is V=E- ir; r is the internal

resislance of the battery and i is the

current through it.

Using the code given below, select he correct

answr.

(1) S, is true but S is false.

( (2) S, is false but S, is truc.

(3)

(4) S, and S, both are correct bul S, is not

correexplanation of S,

IWho among the following scientists named

the electric charges as positive' and

'negatiye ?

S, and S, bolh are correct and S, is

correct explanation of S,.

(1) Benjamin Franklin

(2)

(3)

(H)

James lanwell

Robert A. Millikan

Charles Coulomb
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99.

tf':

S,:

S

(1) S, HAÈ
W S,3TH4|

zftii 5 yfra: faA|R V= E- ir ¿aià:

(2) S, 3744 g S, HI

(3) S,aT S, i HI BTr S, S, Ì H

(1) fa af1

(2)

(3)

R2

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


For thecircuitshown belo, match List-l and ! 100. à qià yfrqg fr, a S aG i
Iist-II when S is swiched off.

Ww

(A) Current i,

List-I

(B) Current i,

(C) Nel resistance

in the circuit

) (9) (r)

(1) (9) (p) (n)

(3) (p) ()

(1)

(A) (B) (C)

(2)

R

(4) (r) (p) (9)

0.25 T

Zero

R

(3) 0.39 T

} 0.33 T

PGT-PHY-2023
D

(p)

()

S

(p)

(41)

()

101. A straight copper wire of 100 g and length
2.0 m carries a current of 1.5 A through it.

The minimum magnetic field that needs to

be applied to keep the wire suspended in

mid-air is about :

K

List-II

will increase

i

will decrease

will renmain the

Sanne

IL

47

R

(A)

(B)

(C)
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(1)

(2)

(3)

(1)

(A) (B) (C)

(9) (p) (r)

(p)

(9) (r) (p)

R

R

(r) ()

(r) (p) ()

(1) 0.25 T

(2) 4

(3) 0.39 T

(4) 0.33 T

S

101. 100 g a1 2.0m à hiVI fî tà

(p)

(9)

(r

K

Ht - II

J.2
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102. A resistor having 3 92 resistance is connocted ( 102. va5 3) frl ael lal lril Ä

to a 3 Vbatteryand an amnmeter. Considering !

the ammeter as a galvanometor having !

resislance 602 with a shunt having 0.02 2; 1

the current in the circuit would be:

(1) 0.993 A

(2)

(1)

(3) 0.047 A

(2)

1.0 A

(4), 0.050 A

103. Which one of the following could be a

paramagnetic substance ?

(1) Lead

(2)

(3)

Gadolinium

Silicon

Oxygen

Es E,

104. Two batteries having non-zero emí
E,and E, have internal resistances r, and r,

respectively. They are connected.in parallel.

Given E, < E,. How about the equivalent
emf (E) of the combination ?

(3) E< E,

s 4) E= E, + E,

324

VeIR.
3

E is independent of r, and r,

PGT-PHY-2023 G
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(2)

(3)

(4)

(2

(3)

HHGl ?

(4

(1) s

0,993 A

1.0 A

(2)

0.047 A

(3)

0.050 A

(4)

104. efuifh 3N4 emí E, E,à, 3idf

(1) E E,

ferfete1

E<E

6l

E = E+ E 324*4

H2
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untomlv dinlute)

()

(2)

(4)

B

B

R

R

R

R

r --

r
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()

(2)

(3)

(4)

A

Bi

B

R
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106. WIhich of the following could be the primary | 106. ffttgg H 4 TA YH l Hr7 34a

origin(s) of magnetism?

(1)

(2)

(3)

(4) Electron's intrinsic spin only

(4)

(2)

Whal is tlhe bandwidth ?

(3)

(4)

Polar nature of molcrules

107. The graph shows he variation of current () 107. UIE 4 f+4 LCR ygY RI () | 3ATqid

wilh the Írequency (w) in an LCR circuit.

is:

Atomic currents as well as eleclron's

(1)

intrinsic spiun

(1) ~0.6 rad/s

(2)

Atomic currents only

(3)

(4)

I 1.0

0.5

0 0.5 1.0 1.5 2.0

108. An 100 W incandescent bulb is conected to

an ac source that can give 311 V pcak voltage

supply. The rms current through the bulb

~ 1.2 rad/s
~ 0.4 rad/s

~ 0.2 rad/s

0.65 A

0.9 A

0.34 A

0.45 A

(rad/s)

PGT-PHY-2023 a

Io.

(!)
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(2)

(3)

(4)

Ž?

(A)f

(2)

(1)~ 0.6 rad/s

(3)

(4)

(1)

(2)

(3)

0.54

4)

T.

0.5 1.0 1.5 2.0

108. 100 W #1 y I4I qe yG H
À SIŽG 311V frG aea

~ 1.2 rad/s

~ 0.4 rad/s

~ 0.2 rad/s

0.63 A

0.9 A

0.34 A

(rad/s)

0.45 A
V= IR

(ac)

A19fi
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09. An inlrared radiation of 100GIz freuuoncy )109. 100 GHz 3AIgf al 344RKI Tech| y 1

is travelling in free spe along the |1-direction. Al a particular poinl in space
and lime, the cleclric field is along: y-axis !

having a magnilude of 9.3 V/m. The
magnetic field at this point is :

(0)

(.3)

(!)

()

-3.1x10 kT

(2)

+3.Ix10

+9,3 k T

+3. NxI0 T

Force between two current carrying

Conductors

B 9.3

Both mutual and self-indluction

(3) Mutual induction only

Sof-induction ony

PGT-PHY-2023
5

110, IW'hich of the following phenomena plavs the 110. ffefea yfr ùfHGE yà NST
role of inertia in physkal sense ?

51

(1)

JOIN TELEGRAM - @TEACHINGEXAM

(2)

(3)

(4)

(2)

(3)

-3.1x10-8kT

(-4)

+3.1x10kT

+9.3 & T

+3.1x108T

R2
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111. Eleeric currents I, and L, are sot in lwo| 111. fE À 7fa
H f41 T| TJ| I 4414

(2)

(1)

(3)

The ralii of Iwo coils aro cm and l00 cm
respeclively. The nutual inductance of the
rrangenont is alxut (4, =4mXJ0 7T m/A):

(2)

(3)

(4)

COnTNtri circular coils in a plane as shown.

I,=5A

O=2)

2x 10- I0 H

2x 10 H

2x 10- 14 H

1x 10- 14 H

112. Visible liglht of 5000À with an energy flux of

30 W/cm² falls on a perfectly absorbing
surface of 20 cm²at normal incidence. What

is the total momentum delivered to the
surface in one hour ?

(1) 3.6 x 10-3 kg ms-l

7.2x 10- kg mn s

3.6 x 10- kg m s-!

(4) 7.2 x 10 kg m s

L

-GT-PHY-2023 6A 52
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(H=4m x 10-7Tn/A)
:

(2)

(4)

(1) 2x 10- 10 H

(1)

(3)

(4)

l,=5A

(3) 2 10-14 H

=2)

112. h YH 30 W/cm² l 5000 HI YY

2x 10- H

1x 10- 14 H

(2) 7.2 x 10-3 kg m s-1

3.6× 10-3 kg m s!

3.6× 10- kg m s-!

7.2 x 10-4 kg m s-1

R2
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113. The distance for which the diffraction 113. 5000 Å TiTŽáÁ Ti H 3 mm zrA 4:

spreading may be ignored for ravs of 5000 A

wavelength and he aperture 3 mm is about:!
(1) 3.0 m

(2)

(3)

(b)

(c)

convex refracting suríace. Following four
sketches are drawn for depicting the
situation. (symbols carry their usual
meanings)

(d)

(1)

1.8 m

(2)

18 m

<(3)

5.5 m

(4)

114. An object X is placed in air in front oa 114. fi faq X ya s yaiil4 HTE

X

Which of these could be correct sketches ?

X

X o

X

(a) and (c) only

(a), (b) and (d)

(a) only

(a) and (b) only

PGT-PHY-2023
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(1)

53

(2)

(3)

(a)

(4) 5.5 m

(b)

(c)

(d)

(1)

(2

3.0 m

(3)

1.8 m

(4)

18 m

X

X

X

n n

n/n2

hqi (a) 31R (c)

(a), (b) 3R ()

hdi (a)

hqi (a) 3R (b)

R2
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115. A short object of length L is placed along the 115. ftÌ 3AGT TÝ YeA 1A

(1)

(2)

principal axis of a concave mirror slightly
away fromthe focus of the mirror (u-f<<f).
What will be the length of the image ?

(symbols carry their usual meanings)

(4)

(1)

2)

(3)

(4)

116. A point light source O is placed between two

plane mirrors A and B at a distance 0.2 x from
mirror A, as shown. We see multiple images

of light source in both the mirrors. How far

behind the mirror A are the nearest three
images of the source in that mirror ?

(u +f)?

A

(u-f'

0.2 x

L

B

0.21, 0.8x, 1.4*

0.2x, 1.8x, 2.2x

0.2x, 1.8x, 3x

PGT-PHY-2023 ä

0.2x, 2.2x, 2.4x

24
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(1)

(2)

(3)

(4)

(1

(2)

116. i HHdd Eyui A T B # 44 4u A H 0.2 1

(3)

(u+f)

(4)

(u

L

0.2 x

B

0.2x; 0.8x, 14r

0.2x, 1.81, 2.2
0.2r, 1.8x,3x

0.2r, 2.2x, 2.4x

R2
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1Vhich one of the lollowing optical elements 117 fffua yaaIc 3Teyi A aT4 HI

can change the wavelront of a plane waveI
into a spherical wavefront 2

(1)

(2)

(3)

(4)

A plane convex lens

A concave mirror

A prism

118. The de Broglie wavelengths of an electron, a

proton, a neutron, and an alpha-particle are

represented as e p An and respectively.

A plane mirror

all these particles have same kinetic
energies, then which one of the following
relations is correct ?

(1)

(2) Aa=Ap=e

(2

rt) pne

119. In a nuclear reactor, the core that contains
the suitably fabricated fuel and moderator is

surrounded by a reflector to reduce:

de>

the loss of neutTons in the control rods

the absorption of two neutrons by a

single fissionable nucleus

(9) the non-fissioning absorption of
neutrons

(4) the leakage of neutron

PGT-PHY-2023
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(1)
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(2

(3) g fy4

(4)

(1) pAsda

(2) A=A=A, =de

(3) AnAa

119. f TfTtA frar s, fHÀ HHfyd

(4) Ape

(2)

R2
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*0ne ransIlion shown below in an hvdrogen i120. ZSIA yH) f 2|12 1? 4.
alom gives rise lo a radiation thal belongs |
lo:

(1)

(2)

(3)

(4)

(a)

b)

given by E, =

(c)

Paschen series

–d)

Bracketl serios

(1)

Lyman sories

121. The n! state energy of a hydrogen atom is

(2)

Balmer series

their usual meanings). Let in an ensemble,
all H-atoms be in the ground slale and a

radiation having energy cqual to (E,- E)
fall on il. In this silualion which of the

following statements could be Iruc ?

1

n=3

(c) and (d) only

() only

n=2

n=1

(3) (a) and (d) only

The radialion will not be absorbed at

all.

(4) (b) and (d) only

GT-PHY-2023 á

Ly

me

Some of the aloms will move lo the first

excited slate.

Allatoms will be cxciled to n=2 state.

No atoms will make a transition to n=3

slale.

(symbols carry

JNFELERAM @TEACHINGEXAM
56

(1)

(2)

(3)

(4)

E, = -

(a)

121. aTSG HTU na H

(b)

(c)

(1)

(2)

(3)

1 me

8e n'h?

hqT (c) 3r (d)

hd (c)

h4T (a) oR (d)

n3

(4) +a (b) n (d)

n=2

n=1

R2
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122. In an experiment for sludying, the i 122, yEHVI äyA YHA É 21 4, fau(Ä PA" 4,photo-electric elfecl, whal is the effet of !

imTeasing he Irequency of the light that falls
on the pholosensitive plate, provided the !

intensity of lighl remains the same?
()

(2)

(3)

(4)

(2)

(3)

123. The energy required l0 ionize an alom in its

groundl slate is:

(4)

The stopping polential, pholu-electric!
current change however saturation
current remain the sanne.

(1) the energy difference between the most

nergelic lelron and the least

energetic electron.

Neilher of the stopping potential,
photo-electric current and saturation
current change.
The stopping potential, photoelectric
Current and saluralion Currenl all
change.

(2)

The slopping potrntial and saturation !

(urrent change but the photoclectric
current does not change.

(3)

same for all atomic electron.

he energv required to remove the most

energeti clectron.

124. A beam of deulrons is bombarded on

the energy required to remove the least

energeti electron.

ordinary sodium (Na) atoms. Which one

of the following could be a product logether

with a neutron ?

Ne

(4) Na

JoPAX223

2
Ht, NaX n

12

TELEGRÄM
-@TEACHINGEXAM

P

57

()

(4)

f 34IAY4H Bs :

(1)

(2)

(4)

(1)

(2)

(3)

Ne

A

(1)Na
R2
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I25. Starling fron a sample of pure radioative
elent A, which one of the following graphs
correctly shows the number of A atoms (N)
witlh linme |? (Tis the hal(-lile of element A)

(1)

(2)

(3)

(4)

Na

Na

N

Na

PGT-PHY-2023

4

T

JOIN TELEGRAM -@TEACHINGEXAM

58

(T,ra A Ì
31 314 1)

(1)

(2)

(3)

(4)

Na

NA

T

R2
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126. In an unbiased p-n junction at 300 K:

(1) ihe diffusion as well as drift currens
vanishes everywhere.

(2)

(3)

(4)

127. "The average energies of the "Iree" electrons
in a sample of a metal at 0 K and 60 K are
Eo and Eg respectively. The ratio E/Esg is:

the diffusion and drift currenis cancel
vach other.

(1) <1

the elecric potential vanishes
everywhere.

(2) infinite

the clectric field vanishes everywhere.

(3) >1

(4) =1

128. The displacement x ( in m) of four objects A,
B, C and D with time (in s) are given by
following cquations :

/A: = 2.7t +92+5

VB:x=6.712 + 0.9t +5

Ce=10t +9.2(3+5.71

:Xp =0.8t + 1.212 +7.7

(1)

(2)

Which of them is/are moving wilh uniform
acceleration ?

(3)

(H)

B only

B and C only

A and C only

|126. 300 K T feht 34414G (unbiased) p-n 4 Ä

B and D only

PGT-PHY-2023 3
JOIN TELEGRAM -@TEACHINGEXAM

(1)

(2

59

(4)

127. Ig fh T iOKa 60 K R'i' 3

E/E?
:

(1)

(2

(3)

(4) =1

128. T fYs A, B, C 3ÀR D HH4i(s) A

<1

A :x=2.71+ 9(2 + 5t3

>1

B:X=6.7t +0.9t+5

C: xç=10t +9.245.7t

(1)

D: p0.8t +1.21+7.7

(2)

(3)

(1)

h B

ha B STT C

àhqi A 3ÌR C

hd B 3iR D

R2
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129. (onsider the (ivo stalelents givon beow:

- SiVhen percentag errors in he !

wasurement o mass and spevd of an
objet are 2% and I respetively, the
perenlage error in thv measurement o!

-{ m

V the kinetic energy of lhe objecl is 4o.

(4)

o|) S, is corroctbut S, is not corret.

Ihe kineic energy ot the objct is given

, (3) Buth S, and S, are corret and S, is the

correct Nplanation of S.

by

) S, is not comotwhile S, is corect.

(1)

, mass x spoed".

Both S, and S, are correct bul S, is not
the correctevplanalion of S.

C are expressed in unils of N kgs: m.s²;

and m².s, respectivelv. p and q are :

3

130. In relation A= B'C", the quantity A, B and!130. Fq-y A =BA, B 3T7 C TIfyri hAN:

2

Iand 2 respectively

5

7 and respectively

(3) and respectively

-I respectively Pa

PGT-PHY-2023 a 39
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|129, ià f Fi faar áfu:

60

(2) S, H T À Tafca S,HÌ

(4)

(1)

(2)

2
(3) n

(4)

2

5

1

2p-2 P424 R2
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131. Fillin the blank in the following sentence with
the help of given oplions.
The train was aboul lo leave the station when

there.
l) reached

(3)

(3) had reached
(4) would reach

132. Choose the oplion in which the following
sentence has been changed intopassive voice.

(1)

His attitude vexes me someimes.

2)
(3)

(4)

have reached

(2)

(3)

Directions for question number 133 to 135:
Fill in the blank in enc of the following sntences witlh

tle lelp of given optios.

133. Nitin as well as his friend Ramesh
coming to the party.

1) Were

(1)

Iam vexed at his attitude.

(2)

lam sometimes vexed at his attitude.
Iam vexed by his attitude.
lam vexed by his attitude sometimes.

(4) are

(2
(3)

have been

134. Today, the need of common man

just bread and butter.

is

PART - VI

GENERAL ENGLISH

Was

Were

is

135. Mrs. Kanwal is

are

school.

the
no article

(4) an

PGT-PHY-2023 a

Principal of this

136. Cho0se the option in which the following.

words/phrases have been rearrangedto form

a correct sentence.

(G (B)
.(A)

(C)
(D)
(E)

61

(1)
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2)

Y3)

(1)

(2)

(3)

Directions for question number 137 and 138 :

Fill iu the blanks in the following sentences with the
help of options tlat follow each of them.

(4)

137. Can you tell me how the accident
came up

(1)
(2

(3)

(4)

(1

people gave

Presidenl

138. The witness will

2)

(3)

him supporl

(4)

him
having elected

(C), (B), (A), (D), (E)

(1)

(E), (D), (B), (A), (C)v
(A), (C), (B), (E), (D)

(B), (D), (C), (E), (A)

(3)

{4)

came by

139. The troops were ordered to mobilise.

came down
came about

Choose he word which is nearly opposite in
meaning lo the underlincd word.

bear out
bear with
bear on
bear up

Convene

140. He delivered he speech wilh great aplomb

line up
retreat
dismiss

Which of the following words can correctly
replace the underlined word in the above
sentence?

what 1 have said.

(2) disquiet
apprehension

diífidence
confidence

R2
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WyT HGT 141 143 fe fMT:

(1)

(2)

(3)

(1)
2) fr ia

A3)

(4) fRIŽIŽ

(2)

(3)

(4) Ig

(1) u f
(2) fag GHA

A3) q f
(4) fot f

PGT-PHY-2023
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(1)

2)

62

(3) AH
(4)

146. frferfeafaiei -qui 3Ta :

(1)

(2)

(3)

(4) g4-faure

(1) faA
(2) Hf

(4) vfaG

(1)

(2)

(3) fa
(4)

149, fLfafea fai fy qII Y :

(1)

(2)

4-g y

(3)

4)

(1)

f-(2)
(3)

Tera
froh

4R
frfR
3X

4) àt

m

-00o

R
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